Jr. Newton Talent Search Examination - 2011-12

Practice Paper - 1
STANDARD - IV

Total Marks : 200 Time : 2 hrs.
Section I : Language (20 Questions, 40 Marks)
Passage : Q.1. The passage is about — 0016
Ivou” Hbuttertly. th (1) colours of butterflies
yo’u Ve ever sleen a .rnonaﬁc' uFte}:lr y, then (2) all the butterflies
you’ve probably noticed their bright orange (3) Monarch butterfly
and black colors. It makes them easy to see -
) ) i (4) butterfly’s life cycle
in the sky. You may think this would put the
Monarch in harm from predators, but these Q.2. What does the Monarch butterfly eat?
bright colors are actually what protect the O]0OO0)
butterfly. Monarchs eat a plant called (1) honey (2) nectar
milkweed, which is why they are sometimes (3) milkweed (4)toxins
called “milkweed butterflies.” Milkweed | Q.3. Why do birds not attack the Monarch
contains toxins that are not poisonous to butterfly? 00010
Monarchs but are poisonous to other living (1) they don’t like its colours.
things. These toxins that are a regular part of (2) the colour of the butterfly is not noticeable
the Monarch butterfly’s diet make them (3) they know the butterfly is poisonous for
poisonous to predators. A bird flying through them
the sky will leave the flashy colored Monarch (4)all correct
alone F;C;}lse it k;l.ows 'those bright colors Q.4. Which of these is in a correct order?
mean the Monarch is poisonous.
0OO]6)
Monarch butterflies actually begin (1) eggs, larvae, butterfly, silk pad
eating milkweed as larvae. As you probably (2) larvae, butterfly, silk pad, eggs
know, butterflies begin as caterpillars. (3) eggs, silk pad, larvae, butterfly
Monarch butterflies lay eggs on milkweed (4) eggs, larvae, silk pad, butterfly
plints, .alrlld whenlan eggi)hat‘chest, the };O?Eg Q.5. Which of the following is not used as an
Ca. crpiiar, or arva,' egl'ns © cat the adjective in the passage? DQQR@
milkweed. The caterpillar will eat the plant . )
(1) bright (2) poisonous
for about two weeks and grow to i
i ) . (3)predators (4)silk
approximately two inches long. The caterpillar
will then spin silk pad and attach itselfupside- | Q- 6. Which is the correct synonym of
down to a twig or leaf. Next it sheds its ‘stately’? 00O©)
yellow, black, and white striped skin. This is 1) grand 2) broad
the first step in the caterpillar’s transformation 3) big 4) beautiful
to a butterfly. Q.7. We were hot on the trail of the lost
Questions puppy. O2@

The word ‘hot’ in this sentence means -




Q.8.

Q.9.

Q. 10.

Q. 11.

Q. 12.

Q.13.

Q. 14.

Q. 15.

1) Having a high temperature
2) Having a peppery taste.
3) Being very close.

4) Being very far away.

Which of the following pairs of words

does not rhyme? 00O©)
1) queer — deer 2) faulty - salty

3) read — head 4) flower — tower.

Use an appropriate collective noun to

complete the phrase. D@
A ——of'cards.

1) Bunch 2) pack

3) pile 4) stack.

Give one word for ‘a person who makes

and mends shoes’ - 00©0)

1) Shoemaker 2) blacksmith

3) cobbler 4) mender.

Identify the kind of sentence —
00OO)

‘Will you please give me a pencil?’

1) Interrogative 2) Imperative

3) Declarative 4) command.

Find out the missing punctuation mark

in the sentence — DR

“My friends house is in the next lane.
1) Capital letter for friends.

2) Comma after houses.

3) Apostrophe for friends.

4) Question mark at the end.

“It was a cool winter evening. The sky
looked clear and bright stars popped up
from behind the white fluffy clouds.” How
many adjectives do these lines contain?

DOOB®@
1)6 2)4
3)3 47

Identify the tense of the given sentence-

“We were playing in the garden.” (D@ Q)@
1) Simple present

2) present continuous

3) past continuous

4) simple past.

“Sleeping under the tree was a tired
man.” Identify the subject in the

sentence. 00©)
1) Atired man 2) the tree
3) sleeping 4) under the tree.

Q. 16. Arrange the letters a, o, ¢, ¢, h to form a

sensible word. The third letter of this word

will be - D@
I)o 2)a
3)c 4) h.
Q. 17. Complete the puzzle with the help of given

clues. ONOC)
Clues —

1 2

3 4
Down-—

1. Anobject used to play a famous game.
2. alion’s home.

Across— 1. I like to be here at night

3. Anumber.

Which two letters will be there in boxes 1
and 4.
1)B,T.
3)T,D.

2)D,B.
4)B,N.

Q. 18. If you were to arrange the following

words in an alphabetical order, which
would be the second word? (DR @
Chorus, brass, money, cart, liesure.

1) Chorus 2) brass

3) Cart 4) Money

Q. 19. Which is the proverb that matches the

meaning — It is no use regretting over the
mistakes that have already taken place

- D@

1) Once bitten twice shy.

2) Don’t cry over spilt milk

3) Cross the bridge when you come to it.
4) Alost opportunity is lost forever.

Q.20. Whom will you visit if you are facing

problems with your eyesight?(Q2) 3@
1) Aphysician 2) an optometrist
3) Anophthalmologist 4) an ornithologist.




Q.3

Q.5

Q.10

Q.11

m1:m(26n&a,40§m)

ofivd = vreaTen fareesteff vter v ?
1) &FeH 2) W DQR@
3) SeHiTa 4) YR
TEIIUT! 1 TSETIUTU Jun 31 Ueael Sl
W1 IERTA HeqUl 9168 TRIUT ?

1) w3 ) DRR@
3) =il 4) &8

gE-3N A0 A1E AT IISEIIN hivTen

JIeaTE SISt W ? D@
1) =R 2) ae

3) A8 4) el

i =1 vreaTen WEME vTee ShivTT ?

1) TSR 2) T D@
3) T 4) 38

W ISUh! T 2 fersTouT shuTamdt e
HA? DOB®®
1) HreTer Tieh 2) SIS

TN IAATT 4) TeouIR 1S

Ul @ HEIIRATA® safeki@n e TEuH

TfeR IR? 0IO]6)
e 2) &L

3) TR 4) waTe

T A1 ITETH THIIS 9168 ShIUT ?

1) & )W OQ0®@
3) AR 4) A
TG 9ER 9158 v ? D@
e 2) g

3) ThH 4) gH
TR Gfeonit 9168 ehIuTn?

1) TR )5 DQR@
3) f 4) HisR

T ME A A T 2

1) PR 2) FEDOO@
3) Haw 4) &%
fercoaten Jem aw Foten w2

1) T8 2)¥ DQO®
3) = 4)

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

WS il aren a feameean ag=ie
I fomt. DOB®®
A & 31T Ao 992 TR 1L I

Hiead Sl ShIUTe TUETS! SUIH & 318 ?
1) @R 2) SR

3) T 4) AR

T FehTlehUl A1 JTeGHugTen 319} ShIuTan?
DOB®®

1) UISH TS O 2) HA Tiehl 20

3) @t g 4) Teft <0

33 A 9]3% ASH hIUTEAT ThiclehREATET
it fren feedt Tt 2 D2BE
1) TR 2) SIS SAIRE

3) WERRT 4) S5 TR A&l

TR T@IE @Rt 2 DORQ)
1) Tt 2) Tsreh
3) & 4) iRt
WOt Fguiten Ll W qui &1 JerEu
0000

2) S
%) BIAI™ TS

T ugHT-fohosforoe. adn e s ?
0INO]0)

1) TS 2) TETER

3) ORI 4) TESER

A9 Heitha THST Ut s ?
D@

1) G foem 2) <@ ¥

3) TS gedt 4) 98K

oo Harg Jren d gt 3w 3N

IR : T, NS

S : TII, FFA g9 L A ?

A : 78 NSHETRT STH=A1 TR A=

EFISeRr STETS GO HIgT TR, 1 SN
TS 1 ?




Q.1)

Q. 1)

Q.2)

Q.2)

Q.3)

Q.3)

Q.4)

Q.4)

Q.5)

T =2 AR SRl STSel- 3T T,
T 1 i SAESH G A Bl 2

3R : @I, Al TEUH STEIel qHe Hed get
3TR?

TS : T il &1 TS Hil

Q.19 AR i1 ShivTal ScHaTeN S hel

Section II : Maths (30 Questions, 60 Marks)

9119] 11 : 3IfS1d (30 U, 60 II01)

Find the difference between place values
of 5 and 6 in the number 56, 047 .

0OO]6)
56,047 T &S UTa o H@1 A1 kel
Terfes foRtdies vk &tet 2 DR0@

1) 4400 2) 44000

3) 440 4) 40000

How many number between 1 and 100
contain digit 5? 0016
1 1 100 = weftes foelt Teamed 5 &1 3k
i 0000
1) 21 2) 19

3) 20 4) 11

One picture is printed in 9 seconds. How
many pictures would be printed in 54

minutes? OO®@
I S VeheTd Teh o BIUA B 3G W
54 firfieia ferdt fort BT Brdies?

16 2) 60 DRB@
3) 360 4) 600
28+90:6x%2=? DOBR@
1) 58 2) 48

3) 86 4) None of these
28+90:6x%2=? D2B@
1) 58 2) 48

3) 86 4) TR T

If 3" November is monday, then which of
the following would occur five times in

the same month? 00O

Q.5

Q.6)

Q. 6)

Q.7)

Q.7

Q.8)

Q.8)

3?2 D@
1) TerEh 2) TORTCHe
3) 3| 4) feaedl

Q.20 HFHHT I AW A IR ? DD
IDRE] DEER
3) Eaeh 4) Tt
1) Monday 2) Tuesday
3) Sunday 4) Wednsday
7 iegaR SR AWER 3G @ N Aig=ad
WSS ST TR UTe a5l 557

0OO]6)

1) HHeR 2) TeseR
3) o) 4) JEER
Write in number Quarter to thirty two
thousand. 0016
UEUETE R 3 5w 2 DRR@
1) 31,750 2) 32,750
3) 32,075 4) 32,025
Which of the following is the smallest di-
visor of 12 ? D@
TSUeh! 12 =1 Haid T [HaTseh ST,
12 212 O0®®@
3)6 4) 1
What is the value of 3a+5b, if a=4, b=5,
and ¢ =2 DOB®@
1) 22 2) 37
3) 26 4) 27
IR =4, F=5, MU =2 3G W 331+57
=it fohua et ? DOB@
1) 22 2) 37
3) 26 4) 27

Q.9)

Find perimeter of the adjoing figure?




0INO]O16)
1) 24 cm 2) 18 cm
3)212cm 4) None of these
Q.9) IISTHI® ATehdtel TR whTer.
62§ 7%
5 0INO]O16)
>
1) 24 a4t 2) 18 &
3) 212 44 4) ekt T

Q. 10) Sohan went to school at 8.30 a.m and he
came home at 4.25 p.m Calulate the

period he was out ? OINOIO)
1) 7 hr 55 min 2) 7 hr 75 min
3) 6 hr 65 min 4) 7 hr 05 min

Q. 10) TiE= URYE 8.30 STl FRHS! TR
YST 3MMUT t WiearRier 4.25 e =@
WA, T Al fehell o5 TR B,

OO0®

1) 7 9m 55 fafte 2) 7 am 75 fufte
3) 6 a9 65 fafie 4) 79 05 ¥

Q.11) 5kg9g= - g 010©]6)
1)509 g 2)59¢
3) 5009 g 4) 5900 g

Q.11) 5f%. 9= -———-1m oO®®@
1) 509 ¥a 2) 593
3) 5009 3 4) 5900 7

1

Q. 12) How many times gshould be added to
3 to get answer one? QO0®
1) 5 times 2) 4 times
3) 3 times 4) 10 times

Q.12) %n&ﬁ%am % fireTemad rgu sl
T H? OOR®®

1) 5 & 2) 4 FB
3) 3 T 4) 10 a1
Q.13) o+15-52=51.find 0 @DOB@
Q.13) [ +15-52=51 W =7 00O
1) 51 2) 87
3) 52 4) 88

Q. 14) Cost of one guava is Rs3 paise 50. Radha
takes 9 guava and gives one fiffty rupee-
note. What amount would she get back ?

0]0]O]0)
1) Rs.31 p.50 2) Rs.18 p.50
3) Rs.18 p.05 4) Rs.19 p.50
Q. 14) T Ue=ht fhwa 3 TUd 50 T¥ aMR. AW
T3 U% U 3MMUT 50 FUiel Uk e et
R e foreht werm wa 3 2D @
1) 31%.50 9. 2) 188.50 1.
3) 18 %.51. 4)19%.50 9.

Q. 15) How many liters of milk would have been
taken by Sheela from 26™ January 2000
to 5" march 2000, if she takes half liter

of milk everyday 0016
1)40L 2)19.12L
3)20L 4)19L

Q. 15) it Ast 3tert forex g B 3/e @ fo 26
TSR 2000 IR 5 T 2000 UG TR
foreht foret ger e D@
1) 40 fos. 2) 19.1/2 .
3) 20 fo. 4) 19 &

Q. 16) Which of the following is asymmetrical
figure? DRO@
1)H 2) A
3)0 4) N

Q. 16) THGUH! HIUTA IThell AT 2127
DH A OO0®
3)0 4) N

Q. 17) From a factory 15,590 scooter are sent
in the market, 9881 scooters are still in
the factory, Find the number of scooters
manufactured in the factory? Q3@

Q. 17) T HREFATA 12590 Thed =R




ST Aegl Thed ST fehelt Tohed

TR hedll BIe? D2BE
1) 2,709 2) 12,471
3) 21,471 4) 22,471

Q. 18) Cost of five tables is Rs. 5025 Find cost

of two tables. O20®@
1) Rs 210 2) Rs 2010
3) Rs 1005 4) Rs 105
Q. 18) U o=l fhed 5025 HU 3R, T 790
gH Sowiet ferma Rt BE0? DRB)Q)
1)210%. 2) 2010=.
3) 1005 . 4) 105 %.
Q. 19) 6808 +399+933=2 DOB®@
1) 8410 2) 8040
3) 8140 4) 8014
4 5 9
—t———=2?
Q-20) 55% 55725 D2O®
18
Y 20
8 1
3) 25 4) 25
Q.21) 22188+4=? OO0®
1) 5574 2) 5544
3) 5447 4) 5547
Q. 22) 5839x137=2. DRR®
1) 799943 2) 789943
3) 979943 4) 799843

Q. 23) Which fraction will be in the middle if
the following fraction are arranged in as-

cending order. OINOIO)
Q.23) WS NYUTeh Tge TuiA fosdieara
IV STUITeR WEWE 3% 2 DO @

3 30 13 1 23

TR TRNTRTRT
23

1 R

) 11

13
3) 1

Q. 24) Which of the following replace the box

4ecm40mm [J40ecm4 mm? DQBR@
1) < 2) >
3) = 4) None of these

Q. 24) ANFHIUTA WHGUHT FHITTA Ta@ia ar
IS, 4 At 40 ol [ 4 At 40 fowdi?
D= 2)> OQ0®
3)= 4) =R A

Q. 25) My clock is 10 minutes behind. Now it
shows 1:10 hours. Find real timing?

0[0O]6)

Q. 25) W TSI S fAie WR ST, 3T WigA
TSI 1:10 TS 3T TR TR fehelt aT1eh

A ? DO®®
1) 12.50 2) 1.00
3) 1.10 4) 1.20
Q. 26) How many radii are shown in the given
figure 0000
| RN Q
"R
S
M
13 2) 4
3)5 4) 2

Q. 26) Trsia=a et ferdt e smea?

q &
A . 000@
]
)3 2)4
3)5 4)2
Q. 27) Which of the following is the face of a
cube ? DOB®@
1) Rectagular 2) Circular
3) Square 4) triangular
Q. 27) TN SIS WA IGUSH hIUT 3T0?
0000
1) TR 2) TR
3) =RE 4) frerd

Q. 28) Which of the following can be the value




of a bundle of 5 rupee notes which are
between 70 and 80? DOO0®

Q. 28) 5 FUITEAT A=A ASHMEA 70 o 80 A
M ST WAt R el Thut fehua

WU HIT 31 316 ? DR)Q)@)
1) 393 2) 380
3) 400 4) 382

Q. 29) Which of the following number divisible

by 8and 9 both? 0016
1) 27 2) 73
3) 172 4) None of these

Q.29) EHSUGH 8 9 9 3 91w Wt st Hem

IUT ? DOB®
1) 27 2) 73
3) 172 4) I AR

Q.30) Meera was born on 14th November.
Shriya was elder than her by 15 days.

Find Shriya’s birthdate? 0016
1) 30 Oct. 2) 29 Oct.
3) 30 Nov. 4) 31 Oct.

Q.30) 14 Tregar st FRren A |1, 3
faeamien 15 fawit @& R, e
Tefaw HuEn T@vt TBWe? DR
1) 30 1. 2) 29 .

3) 30 .. 4) 31 1.

Section III : Science (30 Questions, 60 Marks)

91181 111 : farsirer (30 w9, 60 3got)

Q.1 TS IVl WG TR ————-—-
- --~TEUa 7 DB
1) =T 2) &
3) @idl 4) HE

Q.1 Thelowerlimb of the body are called----
1) arms 2) chestMQ R @
3)legs 4) fingers

Q2 - %E9 9 BUEY e el
HE? D@
1) 9 2) B
3) ° [ 4) it fis/

Q.2 The protect the lungs and the
heart. DODOB@
1) Stomach 2) hands
3) Neck 4) chest

Q.3 foamem wWrlaa -—-—---—- 3ma?
1) &iere e )T DRR@
3) T e 4) 32

Q.3 Whatis the taste of a lemon-drop like?

0OO]6)

1) Sweet and sour 2) Only Sweet
3) sweet and bitter 4) Salty

Q.4 U IR fehelt FAHTET /@™ ?
1)10 212 DOO®

3)5 44

Q.4 How many sense organs do we have?

0000
1) ten 2) twelve
3) five 4) four
Q.5 TTSTeA Wishadid ———————-—- 3rEd ?
1) @ RENOOO0)
3) T 4) gie= Uit
Q.5 Thereis in the hollow parts
of bone DO20®
1) blood 2) muscle
3) marrow 4) delicate
Q.6  3MUTHT IIA ThIURIA ST FieM-—— -
~———ieN ITAL? D@
1) Racskn 2) el
3) wiEn 4) o=
Q.6 The joints in the elbow is ---—-—--—--
0000
1) ball 2) socket
3) joints 4) hinge
Q.7 WiEM® |t ~—-—------- TR 3TEAl
OI0]O]6)
1) Racskn 2) el
3) Wl 4) o=
Q.7 Thebonein the shoulder has a --—------ ?




Q.9

Q.10

Q.10

Q.11

Q.11

Q.12

Q.12

0000
1) ball 2) ball & socket
3) joints 4) muscle
——————————— IR UG T a9
LEECREINE 0000
1) 9IRH TR 2) frafi =
3) Bo5dlcs 4) SaEca
---------- makes our muscle healthy and
strong? OOB®
1) diet 2) regular exercise
3) action 4) nutrients
DA, U1 & UIS A1 |l a1 Tehsiierqul-
———————— 3T TEU. DOB@
1) &8 2) TRR
3) TR SA AR 4) T SRR
The chest the abdomen and the back are
together called the ----------- OO®@
1) trunk 2) neck
3) stomach 4) back
HEA HEAFS Jq---—- 2 D00@
1) & &l 2)3H &S] TR
3) T f3ehomed ge=n feermot e 3
4) Gd 7 SRR
Seeding planted in earthen pots --——-—--—-—-
OO
1) do not grow 2) can grow well
3) can move 4) All are correct
Td GSfeiE1 SRUEmEmet - - ———————-—--
=it vl ST DOB@
1) gt 2) 94
3) SHH 4) fam
Allliving things need --——----- to grow?
0000
1) water 2) cloth
3) soil 4) shelter
TWAH - 3T MR’ DRB)Q)
1) siae™ 2) diged
3) HEA AT SO 4) ShsfHId STEUTR
Which kind of organs is the heart?

06O]6),

Q.13

Q.13

Q.14

Q.14

Q.15

Q.15

Q.16

Q.16

Q.17

Q.17

Q.18

1) Internal organs 2) External organs

3) Middle organs 4) Central organs
———————————— HeR TS YEAHT B ?
1) g 2) WADRB@
3) Fed 4) FRFH
Where is blood purified? DO20®
1) In the heart 2) In the stomach
3) In the brain 4) Inthe lungs

e F SR TR e 2 D@
1) sard 2) SRl

3) ® 4) 3T

Find odd man out DOOB®
1) Jowar 2) Bajra

3) Wheat 4) Edible oil
Teheueh figma uaed siva? D)) @)
1) g 2) T

3) T 4) =g

Which is starchy food? DO20®
1) Rice 2) Dal

3) Pulses 4) Meat
TSI U WA - ———--—--- =
3SR BreTa? D@
1) = 2) T3

3) e 4) e

Eating the uncovered food causes dis-

eases of the --------—-- DOB@
1) skin 2) eyes

3) intestines 4) stomach

e el SFIMYT AU ——————-—-
1) SfierrcergE 2) TR

3) 37 4) e FH
Sprouted pulses contain useful-----------
substances ? DOB@
1) nutritive 2) Smooth

3) nice 4)rough
TR oS froTat §---------- STT?
1) ¥ )W D@
3) G 4)




Q.18

Q.19

Q.19

Q.20

Q.20

Q.21

Q.21

Q.22

Q.22

Q.23

Q.23

Q.24

weaving cloth on handloom is?

2)easy DQQ@

4) costless

1) cheap
3) expensive

g Uil Feres HICATAGT - --—--—-
ST ? 0[OO0)
) @ 2) Teauit

3) 4) S

----------- is used to clean muddy water?

0l0©]6)

1) Alum 2) Rubber

3) Ice 4) Medicine
AR B —————————- TS 1?2
1) e 2™ OQO®@
3) ¥ 4) ®|

The vehicle give out -—-----—-- into the air?
1) Petrol 2)01 @@
3) dust 4) smoke

MUSH ——————————~ i shaTera ?

1) T 2) F DQB@
3) FR 4) iRl Tl

Cut your ----------— regularly? DQQ @
1) nails 2) clothes

3) paper 4) things

W | SHUN e wE? D00
1) fafex 2) dord

3) 4) e

Find the odd man out ? 0N
1) wells 2) lakes

3) River 4) Taps

AR ——— ===~ Ao W ST
3E? 0000
1) qmofi 2) M

3) W 4) TEh! S T
People should pay -----—--—-- on time

1) anything 2) taxesMQ@
3) nothing 4) money
__________ LB CRICECAS L CREE L
3MMe? DOB@
1) S 2) facfes

Q.24

Q.25

Q.25

Q.26

Q.26

Q.27

Q.27

Q.28

Q.28

Q.29

Q.29

Q.30

3) efegfufad 4) i

---------- is a mixture of copper and zinc?

1) Iron 2)brassMQB@

3) aluminium 4) Steel

B N D@

1) Hr PARCIES

3) SIS 4) i3

---------- is formed from rocks QR @

1) soil 2) minerals

3) bauxite 4) rock salt

A F oo T DO

1) ~afien 2) AFEHH

3) o 4) 3w

Bricks are -----—------- resources
0000

1) natural 2) man made

3) real 4) Useful

———————— Tt forereet? DOB@

1) =9 2) &1

3) [ 4) 9%

What mixes with the air? Q@R @

1) rain 2) cloud

3) wind 4) vapour

TR G 78 -2 DQQ@

1) e 2) Wi

3) ¥ 4) friesdrd
Butterflies the nectar from
flower? 0]0]O]0)
1) sip 2) suck

3) take 4) swallow

s FeEa@? DQO@
)5 2) W

3) T 4) @K

What do the insects nibble? QR @
1) Roots 2) leaves

3) flowers 4) stems

&4 FISfervaret -~ -~~~ ST

1) fim 2 DQ0@
3) ST 4) @l




Q.30

Q.1

Q.1

Q.2

Q.2

Q.3
Q.3

Q4

Q4

Which containers are used for storing

grains? DOOB®
1) Drums 2) Bins
3) Barns 4) Boxes

Section IV : Intelligence Test (20 Questions, 40 Marks)

o181 1V : ggfenTar aravit (20 U9, 40 3po1)

Find the number in place of the question

mark? DO20®
12, 15, 21, 24, 30, ?

1)33 2) 34

3)38 4) 40
TyTergTeal SN iU & A507?
12, 15, 21, 24, 30, ? DOR®
1)33 2) 34

3)38 4) 40

In a code language 11 = 121, 20 = 220,
17=187, then how will you write 35?

1) 289 2)330 DOR@
3) 385 4) 384

Tehl Wickfdeh WA 11 = 121, 20 = 220,

17=187M35HA foa@?  DORQ
1) 289 2) 330

3) 385 4) 384

Find the odd term DO
forsiie ug 3feEn.

DA v 2h—
3) 2 4\9
Which digits are not present in the given

OOR®®
e 3Mepdia iU 31k AEA?

A
5%848

6 3

figure.

1,7
3)7,9

Q.5

Q.6

Q.6

Q.7

Q.7

Q.8

Robert’s age is half of David’s age Dif-
ference between their age is 15. Which
alternative shows sum of their ages?

0000
1) 30 years 2) 50 years
3) 45 years 4) 35 years

Jadd 99 SsEis=al aar=dl Hue R.
e ST W 15 9 TR, TS

HIUT HE Hiedl aiis qratad?
0]0]O]0)

1) 30 o 2) 50 o

3) 45 4) 353

27th February 2008 was on monday what
would the date on next Monday?

DOB®®
1) 5™ March 2) ™ March
3) 4t March 4) 20" March
27 thglarl 2008 TITER B, A = Yeea
el & a0 3WG? DORQ)
1) 59 2) 67
3) 47 4) 20 7

ABCDEZQAJHDEMWAPRFA
N. How many times A appeared in the

above series. 00OO]6)
1) 6 times 2) 3 times

3) 5 times 4) 4 times

Tt mifsehd A frdt e a1t 3R ?

1) 6 3 2)39FDRR@
3) 5 e 4) 4 <1

The first two terms are related in a cer-
tain way: The same relationship exists
between the third and the fourth term.

Find the missing term. 00O
5:13::11:?




Q.8

Q.9

Q.10

Q.10

Q.11

Q.11

Q.12

Q.12

1)31 2)25

3)19

4) All alternatives are correct.

ufgean gF Ugid S Heie 3R, ar fom=mn
T TNl TR TR, WA= Shh e
ABH? 010O]6)
5:13::11:?

1)31 2)25

3)19

4) Td g SR TR,

Study the given order & find the next
term? 00O

oot wifsent srem, TvAferaTe ST &
RECK IS e |

AOO %, 2AO0O, O&xAL,?

1) & O A0 2)O00x A
3)O& A 40 A0
From the year 1986 to 2011, how many

are leap years? DOOB®
1)6 2)7
3)5 4)3
T 1986 3 T 2011 A fofet Siuad 31ea?
)6 27 ©O00®
3)5 4)3
How many numbers from the given set
are dinisible by 4? DOOB®

522, 332, 628, 744, 542, 726, 708, 548,
3692, 4244, 2406

1) 10 2)7
3)8 4) 6

feoem deaiue et weain 4 3 got am
S? DOB@

522, 332, 528, 744, 542, 726, 708, 548,
3692, 4244, 2406

1)10 2)7

3)8 4) 6

Rishabh is standing in a line his rank from

right is 21 and from left is 13. Find out
Rohit’s rank from left who is 3rd from

right. 00O6)
1)30 2)26
3)33 4)31

ey wekt TiTa 391 B < ShHieh SSTeiehgH

Q.13

Q.13

Q.14

Q.14

Q.15

Q.15

Q.16
Q.16

2191 F STEiehgA 13901 3R, e Wi Jda

STEtehg 30 31T, T Tl SSAlehgH shilich
fepan? 0l0©]6)
1) 30 2) 26
3)33 4)31

A rope of length 480 metres is cut at 5
places. Find the length of each piece of a

rope? 0lOO]6)
1)80 m 2)24m
3)50 m 4)70 m

TeRT 480 ™ wisiten e ure STl
HUGT, R YAk Jehgarel wisht fehet?

O]0OO0)
1) 80 #t 2) 24 %t
3) 50 4) 70 7t
If bees is to insects then snakes is to
what? 0016
1) mammles 2) cobra
3) Reptiles 4) crawls
IR LTINS feheeh T ATUTH hid?
O]0OO0)
1) T 2) RS
3) TUIR 4) bR
Ratna has 26 flower, Shobha has half the
flowers as that of Ratna. Seema has 10
more flowers than Shobha. Who has
maximum flowers ? DO20®
1) Shobha 2) Seema
3) Ratna 4) None of these
TTRS 26 T A, yiwTeRs ferean fuge

T M. RS 10 e WEd 31ed, ™

T e B3 RS 3RA? DRQ)@
1) 9 2) Hm

3) T 4) TR T

Find the next term. 00O
qais U8 i,

QJL?

Q
1) 2)




Q.17

Q.17

Q.18

Q.18

Q.19
Q.19

Q.20

Q.20

AV IEIRY;

If we arrange the following terms in a logi-
cal order. Which term would be in the

middle? 00O
Mouse, Horse, Dog, Elephant, Deer

1) Dog 2) Mouse

3) Elephant 4) Deer

W U T ThA SlacdrE Hedwrit
ThHIUT SFHUTR? DOBR@
1) F= 2) 3R

3) &l 4) &

Find the odd pair. DO20®

1) Nephew - niece 2) Uncle - Aunt
3) Grandfather - Grand mother
4) Sister - cousin.

forsiie WISt 2nezan. DOB®®
1) A - A= 2) St - R

3) ST - 3T 4) w - HeRh
Identify the similar term. D23 @
T UE 3.

@
e EEE
3)@ 4)%

Mandar is facing West. If he turns in right
angle, towards left his right hand would

face which side? OOB®
1) North 2) East

3) South 4) West.

HeR Ufgeiiens dig e SuT 3R, SR a1
TrAihe TSS! T A ST B I
favret s ee? DNO]0)
1) 3T 2)w

3) e 4) afeem

Answers / 3T :
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3)

3)

4)

3)

6.

1)

3)

3)

2)

10.

2)

11.

2)

12.

3)

13.

1)

14.

3)

15.

1)

16.

2)

17.

4)

18.

3)
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2)

20.

3)
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18.
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22.

1)
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3)
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26.

2)

27.

2)

28.
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29.

4)

30.
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6.
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2)

2)

1)

10.
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11.

4)

12.

1)

13.

1)

14.

4)

15.

1)

16.

3)

17.

1)

18.

3)

19.

1)

20.

4)

21.

1)

22.

4)

23.

2)

24.
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1)

26.
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27.
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28.
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30.

2)

Secti

onlv/dm1IV:

Y

3)

2)

3)

3)

Y

4)
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